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DO NOT OPEN THE BOOKLET UNTIL YOU ARE ASKED TO DO SO.
W& qh el 7 W, et T @l

FIRST READ ALL THE INSTRUCTIONS / Ugat @+t fevn = ug |

Importance Instructions / Wﬁ"{'ﬁ fdor

1. This paper consists of 100 multiple choice questions (M.C.Q.). All questions are compulsory and
carry 01 marks each. There is not negative marking.

U T A 100 Tgfashedta gvd €1 9l yvd e € 9 gee 9v 01 Sk 1 @1 e SW S
fou &fw ==& e S

2. Each question has four alternative responses marked (A), (B), (C) and (D). You have to choose an
appropriate answer option and mark it on the OMR sheet.

Yo% T9 & WX SR fa@med (A), (B), (C) T (D) &y 7w € o1ueh! Suge SwR foeed 1 e
FT G W 3Afhd w2

3. For marking answers on OMR sheet, follow the detailed instructions given on the OMR Sheet.

MUASAR. YU W A G&l S| &l fafgd & & fau g3 m eifewa e 1 aem swifsml

4. Use only Blue or Black ball point pen for marking on OMR.
ATHIN W foe T & U saa Tl I Feft sid @ige U9 &1 & TKH e Sl
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1. The word "Environ" has been taken from the language :

(A) Latin (B)
(C) French (D)
‘TR W% T 9 9 T T w

(A) dfed (B)
©) == (D)

2. Which of the following is not a decomposer?
(A) Algae (B)
(C) Bacteria (D)

= o § S9-T TTIeE A9 87

(A) SEm (B)

(©) Ty (D)
3. Which of the following is a producer?

(A) Green Plants B)

(C) Reptiles (D)

= ¥ 9 $9-U SOEF 7
(A) B TURY (B)

(C) =gy (D)

4. In aquatic ecosystem, the consumers are :
(A) Large Fishes (B)
(C) Small fishes (D)
St aiitfeerfas o § Sy ®
(A) o€t msfaar (B)
(C) B usfaat (D)

S-1029 / FES-(A)10/FES-(B) 10/FES-10 ()

Greek

Sanskrit.

&Rl

Fungi

All are decomposers.

qff sUEeE B

Birds

Bacteria

qaft
ey

Phytoplankton

Small and large fishes.

Y widesh

B TE wE ASfoA|



S.  In forest ecosystem, the consumers are :
(A) Tree (B) Phytoplankton
(C) Deer (D) Small and large fishes.
o witfefas @ ol €
(A) & (B) URY wiEh
€) T (D) BE TS =& Aol

6.  Which of the following can have both upright as well as inverted pyramids?
(A) Energy
(B) Biomass
(C) Both Energy and Biomass
(D) None of the above

FA-T1 e e 9en 3o B 22
(A) FeI HT

(B) SE¥R

(C) IS T SE9R Ml W

(D) SR # ¥ ®E Tl

7.  What is true about pyramid of energy?
(A) It is always upright
(B) It is always inverted
(C) It can be both upright as well as inverted

(D) None of the above.

Tl & ffie & g9y § @ g 82
(A) TE HId Hem T T

(B) ¥E WA Ied T T

(C) I Sea d den I B OFewal
(D) SR # ¥ ®E Tl
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8.  What is true about pyramid of number?
(A) Itis always upright
(B) Itis always inverted
(C) It can be both upright as well as inverted

(D) None of the above.

dem & ffe & w6y o #1922
(A) TE HId Hem B €

(B) ¥E Hed el BWl ©

(C) I Sea d Wen I B OFwal
(D) ST | 9§ g T

9.  Which of the following scientist proposed 10% energy law?
(A) EP Odum (B) R Mishra
(©) R Lindman (D) B Lee.

e § 9 forg 9ifer 3 oS w1 10 yfde e o1 gfdaea fean?

(A) T oTeEw (B) smw. fasn
(C) om foeH (D) st <
10. Plants, animals and microbes in an area together called .............. of that area :

(A) Abiotic factors
(B) Biodiversity
(C) Abiotic factors and Biodiversity both

(D) Biosphere reserve.

foRe Tom W R, Sigell 9 YeAsial F W T F e FE S 2
(A) Ifa® FRE

(B) < fafaermr

(C) oRifaeh Rk qen Sia fafaear gHi

(D) “eHsd Ifa &l
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11.

12.

13.

Which of the following is example of ex-situ conservation method?
(A) Botanical Gardens

(B) Zoological Parks

(C) Zoos

(D) All of the above.

= & & ®F T die wew fafy s sae 82

(A) defHda meH

(B) Seffhel W

(C) fafsamR

(D) STl @

Which of the following is example of In-situ conservation method?
(A) Botanical Gardens

(B) Zoological Parks

(C) Zoos

(D) Wildlife Sanctuaries.

e & ¥ ®F o dig wew fafa w1 S 22

(A) dEefHda meH

(B) Seffhel W

(C) fafsamR

(D) 99 Sd TERF|

Jim Corbett National park is located in the State :
(A) Rajasthan (B) Himachal Pradesh
(C©) Uttarakhand (D) Tamil Nadu.

(A) TIEH (B) femm=ar ww
(C) 3Evs (D) dfHTS)

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (5)
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14. Which of the following is first national park of India?
(A) Gir National Park
(B) Kaziranga National Park
(C) Corbett National Park

(D) Valley of flower National Park.
e § @ -9 R 1 Yeel TS IUH 272
A) R 1< 3am

(B) HNIM T 3T
(C) Fide TLH IaH
(D) el & A TEE S|

15. Expanded form of TUCN is :
(A) International Union for Conservation of Nature
(B) International Unity for Conservation of Nature
(C) Intergovernmental Union for Counting of Natural resources

(D) Indian Union for Conservation of Nature.

oE. g, . . 1 Teg B9 € :

(A) ZTWEA I BR FEERE AE T

(B) ZT¥AGT I TR HEERH AF =X
(C) ITUEHed I &R &R % 9@ fEEs
(D) sfead FfEd ®R FEETH AFE 7=

16. The term "Ecology" was proposed by :
(A) AG Tansley (B) Robert Brown
(C) Julian Huxley (D) Ernst Haeckel.
SehlelSll I1s% Hfawifee fepam o :
(A) T S TEd A (B) T FRA I
(©) Sferr T | (D) TR TFA Al
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17. Excessive quantity of NOx and SOx in the environment causes .........

(A) Alkaline rain

(B) Atificial rain

(C) Acid rain

(D) None of these.

NOx T SOx % TARRT H FTAE A & BRI oo
(A) &g o

(B) eTpiash =t

(C) ocia i

(D) TH ¥ *E &

18. Which of the following causes water pollution?
(A) Biomagnification (B) Eutrophication
(C) Methanogens (D) Lignification.
freferfon & § fre® FR0 9@ TGEV A 82
(A) TEEH SRR | (B) wfreyd @
(C) fogArm = (D) feriifreem 9l

19. Which of the following is physical parameter of water?
(A) Turbidity
(B) Biochemical Oxygen Demand
(C) Dissolved Oxygen

(D) Chlorides.

e o 9 HE-91 S H1 SifgR T 27
(A)E’@ﬂ@ﬂ?ﬁ

(B) & WA SefsH |

(C) Hferd  eerdisH
(D) FAREEH|
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[P.T.O.



20. Which of the following is chemical parameter of water?
(A) Chlorides
(B) Biochemical Oxygen Demand
(C) Dissolved Oxygen
(D) All these.

= ¥ 9 $H- S F qORE GUHe 82
(A) FIESH

(B) & WA SefsH |

(C) Hferd  serdisH

(D) 3 T\

21. Which of the following causes asthama?
(A) Sulphur di oxide
(B) Carbon di oxide
(C) Magnesium di oxide
(D) None of these.
frfafad § @ fhas FR0 SR g 27
(A) HEHL TE SRS
(B) A TE AHEEE
(©) Frefifemm = RS

(D) ™ ¥ *E &

22. Main cause of Ganga river pollution is .................. .
(A) Pesticides and insecticides (B) Solid waste
(C) Domestic sewage (D) Mass bathing.
R O e 2 s e ) S 2l
(A) Uf=dEs 9 ®iTR (B) 3@ 3ImfyT=
(C) Wy i (D) wHfeF: =M
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23.

24.

25.

Bioremediation means .........cccceeeueennnee. .

(A) Introduces new species in a area

(B) Removal of toxic substances by using biological components
(C) Entry of nitrates and phosphates in aquatic ecosystem

(D) Increasing toxic chemicals in each trophic level.

A) T&dt =M W R wonfa #1 oeT

(B) Sifess di g oo ugrelf w1 g

(C) Vo fidd § AEded® I TEhed H YEAY T

(D) foured WRAT 1 Y @R &R W d&

Which area of India is sensitive to cyclone?

(A) Himalayan region (B) North-east region

(C) Arabian Sea and Bay of Bengal (D) Deccan peninsula region.

IR 1 HHE-T &5 Teha & oy HagIeie 8?2
(A) feameR &= (B) SW-TaT &

(C) 3E ¥R § oM & @rel (D) TFRA UHgen &l

What is true about Typhoid, cholera and dysentery?
(A) All are water borne diseases

(B) All are water and food borne diseases

(C) All are air borne diseases

(D) None of the above.

IEHES, T AR W & SR W o 99 @2
(A) usft S@ I I €

B) T w9 @@ S W R

() Tft 9y wf@ I €

(D) SR # ¥ ®E Tl

S-1029 / FES-(A)10/FES-(B) 10/FES-10 9)
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26. To set the moral values toward environment is related to ..................... .

27.

28.

(A) Environmental laws
(B) Environmental economics
(C©) Environmental Ethics

(D) None of the above.

After Hedl il EeRT % A T A i gt 2

(A) TR T |

(B) wHleRufig sfefemre ¥
(C) TRV Afgwar o
(D) SW H ¥ ®HE R

Environmental education is important only at ........
(A) Primary School level

(B) Secondary and Senior Secondary School level
(C) College Level

(D) At all school and college levels.

(A) wufged faame™ TR ™
(B) ¥&ved W HIfR T&ved A W W
(C) el &R W

(D) Wt @ TE FeN ' OW

Rooftop method is related with ................... .

(A) Watershed management (B)
(C) Rainwater harvesting (D)
FTEAT AT v T T

(A) TREWE T 9 (B)
(C) a9 S WIEU 9 (D)

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (10)

Micro-irrigation

None of the above.

EHEOIHE °
SWad H 9 HiE &N



29.

30.

31.

32.

Which is renewable energy resource?

(A) Mineral Oil (B)
(C) Wind (D)
TN Foll Rl TR HHEA €2

(A) @S da (B)
(C) Yo (D)

The Asiatic lions are found only in the .................

Coal

None of the above.

EIRIC|
SWed H § His A€

national park.

(A) Jim Corbett (B) Kaziranga

(C) Rajaji (D) Gir.

TRETER I AE e, T S § 9T S €

(A) 5 e (B) IS

(C) mSit (D) frl

Which one of the following is primary pollutant?

(A) NO, (B) SO,

(C) PAN (D) NO, and SO, both.
= o @ o T wg 87

(A) T, (B) TH,

(© T (D) TS, T wESd, <l

Which one of the following is/are causes of water pollution?

(A) Excessive use of Insecticide

(B) Dumping of Solid Waste

(C) Soil Erosion

(D) All of the above.

o § @ ®H Wl IgUU 1 HROT B2
(A) HITRTHI I AAYH ST
(B) S 3MURTE I el

©) T STIEA

(D) SW 9+

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (11)
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33.

34.

3S.

Kyoto protocol is related with ................... .
(A) Depletion of Ozone layer

(B) Global warming

(C) Marine Pollution

(D) Water Pollution.

Which one of the following cause global warming?
(A) Methane (B) Oxygen
(C) Nitrogen (D) Hydrogen.

= ¥ 9 ® Afva® SO &1 FROT 22
A) faem (B) oATadSH
(C) e (D) TESH|

Which of the following is the main reason for melting of glaciers?
(A) Increase in the oxygen content

(B) Global warming

(C) Decrease in CO, content

(D) Noise pollution.

frafafad & @ ®iF TRER % fuses w1 ge wRo R
(A) AfFflSH &1 "AET a9

(B) Sfva® o

(C) CO, & HWE HH B

(D) =afT ol

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (12)



36. Wildlife week celebrated in the month of ................... .

(A) October (B) November
(C) December (D) January.
T ST T o e W HAE W

(A) STFRT (B) Ta=R

(C) fea=r (D) S

37. The state tree of the Uttarakhand is .................. .

(A) Rhododendron (B) Pinus
(C) Ficus (D) Quercus.
ITEE FT TF T e 2l
(A) TERHM (B) &
(C) WrEwH (D) |

38. Which of the following is national park?
(A) Askot (B) Kedarnath
(C) Rajaji (D)  Jhilmil Jheel.
e § @ - I8E sEH 22
(A) 3T (B) HENAH
(C) TSt (D) Toafra siel

39. Which of the following is first biosphere reserves of India?
(A) Nanda Devi biosphere reserve
(B) Nilgiri biosphere reserve
(C) Manas biosphere reserve

(D) Panna biosphere reserve.

= § ¥ ®A-W NG FT TEA W9 HUSH AR & €2
(A) TR Sorsw i &

(B) e Sored omiaa &

(C) WHE SoHed oRfad &=

(D) T SoHed oRfad &l

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (13)
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40.

41.

42.

Terrestrial biodiversity is usually less near the ................. .

(A) North Pole

(B) Equator

(C) Tropical region

(D) Tropic of cancer.

Tref S e W i FH T T
(A) IT0 ya & THU

(B) A= @ & g

(C) 3w Hfeaefm & o

(D) % @ & ¥HM

Forest Research Institute of India (FRI) is located in :

(A) Almora (B) Nainital

(C) Dehradun (D) Srinagar.
T o SATET T v A fem 2

(A) ereHrgr H (B) i H
(C) @0 H (D) &R HI

Ramdeo Misra is known as father of ............. .
(A) Indian Zoology

(B) Indian Botany

(C) Indian Ecology

(D) Green Revolution.

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (14)



43. Biodiversity depends on ................ .
(A) Geography
(B) Presence of other species
(C) Soils
(D) All of the above.

A T w fRk B ?
(A) st

(B) 9 YeNfaqdl i IUfedfd ™
€ T W

(D) SR |

44. Tn which seismic zone Uttarakhand is situated?
(A) Zone-I (B) Zone-II
(C) Zone-V (D) Zone-IV.
SR GHT B R o e 82
(A) W (B) SH-II
(C) WH-V (D) SE-IV

45. Gutenberg-Richter Law is related to :
(A) Cyclone
(B) Landslide
(C) Earthquake
(D) Flood.

Tear-fax fram wwfd 2
(A) THIE 9
(B) T&@ad ¥

©) THT ¥
(D) =g ¥l

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (15) [P.T.O.



46. Who is father of "green revolution"?
(A) N Borlaug (B) M Clarke

(C©) G Richter (D) D Hayden.

(A) TA. S (B) TH Fh
(C) <t fa=x (D) T Al

47. Which one of the following is conventional energy resource?
(A) Tidal Energy (B) Wind Energy
(C) Solar energy (D) Fossils fuel.
friferd & @ FF TRURE I HiA 27
(A) TEEA Fol (B) "I FHSl
(C) ¥R wf (D) e el

48. Which one of following state has maximum production of wind energy?
(A) Uttarakhand (B) Tamil Nadu

(C) Uttar Pradesh (D) Bihar .
= § 9 -9 T 991 Sl &1 Faifys SAT S ¢

(A) ITES (B) dfHerTg
(C) SW W (D) fa=r

49. Which of the following shape shows stable population?
(A) Triangle Shape (B) Urn Shape
(C) J-Shape (D) Bell Shape.
f & T HE-T THR T SEEEA HI S E?
(A) B sTRR (B) Hel®l I

(C) J-3TR (D) H& T AERI

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (16)



50. Primary treatment of water is also called as ..........c.ccc..ce.... .

(A) Biological treatment of water
(B) Mechanical treatment of water
(C) Chemical treatment of water

(D) None of the above.

S F Wi ITER ft wEa 2

(A) S 1 Sfow ITER

(B) W& &1 FifFe ITER

(C) & 1 TEEAE® ITER
(D) STWed H ° HE el

51. Bhopal gas disaster was happened in the year .............. .

(A) 1984
(C) 1986

(A) 1984

(C) 1986

52. Ozone is harmful only in ................ .
(A) Troposphere
(B) Stratosphere
(C) Exosphere

(D) Ionosphere.

(B)
D)

(B)
D)

1511 R 1 [ red U TMERE

(A) & Hea o
(B) WHAM Hew W
(C) dfedea o

(D) STEAHRRR  Hi

S-1029 / FES-(A)10/FES-(B) 10/FES-10
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53.

54.

5S.

56.

Which gas is known as "Marsh Gas"?

(A) Oxygen (B) Methane
(C) Nitrogen (D) Argon.
HE-E T el T w A W S SR @2

(A) SATFRISH (B) TR
(C) rESH (D) amHI

Vivekananda Parvatiya Krishi Anusandhan Sansthan, is located

(A) Nainital (B) Almora
(C) Dehradun (D)  Shimla.
fd e T B SEE W fem 7

(A) et (B) T
(C) <'ugd (D) e

The basic requirements of human beings are provided by ..........

(A) Industries (B) Urbanization
(C) Agriculture (D) Nature.
Il e (b I | R k| L RO e 2

(A) wEm ¥ (B) YRIHM BRI
(€) FH W (D) wEHfd W

One molecule of Chlorine can destroy ..................... .
(A) One molecule of Ozone

(B) 10 molecules of Ozone

(C) One lakh molecules of Ozone

(D) One thousand molecules of Ozone.

(B) 3NH & 10 ST ol
(C) &NM &% TH arE STef ®
(D) #NM & TF TAR S Hl

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (18)



57. Salim Ali was a well known ..................... .
(A) Ichthyologist
(B) Ornithologist
(C) Herpetologist

(D) Virologist.

(A) T fagme
(B) vueft fagmemn
(©) whygy foasmemn

(D) fommoy fommam

58. Minerals can be extracted by .................... .

(A) Mining (B) Drilling
(C) Quarrying (D) Al of the above.
EC i) SO EN frepten ST @)

(A) @1 B) feferm

(C) ST (D) SWE qil

59. Fungi Lacks ................... .
(A) Chlorophyll
(B) Nucleus
(C) Plasma membrane

(D) All of the above.

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (19) [P.T.O.



60. Lichens are ......ccccceceevveeuennnen. .
(A) Mutual association between algae and bryophytes
(B) Mutual association between algae and fungi
(C) Mutual association between fungi and protozoans

(D) Mutual association between bacteria and fungi.

(A) V& = SRIACH W1 SO TR

(B) VoTel & hoehl 1 SMOEl TR

(C) Hadhi 9 TSHeA 1 AT T
(D) SHamet & Hasi w1 AT qER

61. Dolphin is ................ .

(A) Fish (B) Mammal
(C) Reptile (D)  Amphibian.
SAET oo 2l

(A) W&t (B) TR
(©) =g (D) SHTNI

62. Silent Valley National Park is located in the state of ...................... .
(A) Uttarakhand
(B) Rajasthan
(C) Kerala

(D) Jammu and Kashmir.

(D) S o HTHN

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (20)



63. The word "Noise" has been taken from Latin word "Nausea" which means .............. .

64.

65.

(A) Uncontrolled Sound
(B) Big Sound

(©) Unwanted Sound
(D) None of the above.

Alest T wfeq A & A v 9 forn wen & foge sifqum

(A) fERE e

(B) 4 eafq

(C) ofaiea =afq

(D) SWs H ¥ ®E

Unit for the measurement of Ozone thickness is .................. .
(A) Centimeter

(B) Milimeter

(C) Dobson

(D) None of the above.

(A) HIHX

(B) THefHIeX

(C) <fagd

(D) SWe H § HE &

Which one of the following is a greenhouse gas?

(A) Carbon dioxide (B) Methane
(C) Both (A) and (B) (D) Oxygen.
= ¥ 9 %9 W9 eee Tw #?

(A) FEA  EEAFES B) T
(C) (A) qem (B) T (D) A

S-1029 / FES-(A)10/FES-(B) 10/FES-10 (21)
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66. Ozone layer protects us from ................ .

67.

68.

(A)
(B)
©)
(D)

UV Light
Acid rain
Harmful gases

Global warming.

ST /A TR oo g & w R

Which one of the following is impact of global warming?

(A)
(B)
©)
(D)

Melting of glaciers
Skin Cancer
Decrease in CO2 content

Noise pollution.

= 4 4 ®F Sfas FOE w1 99E §7
(A) TARPR @1 fysern
(B) &l T

©)
(D)

CO, &1 #AB1 ¥ FHH B
e gguu|

The state Animal of the Uttarakhand is .................. .

(A)
©)

Snow leopard

Musk Deer

STEE Rl TH T e 2l

(A) fem dgsm

©)

HE G

S-1029 / FES-(A)10/FES-(B) 10/FES-10
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(D)

(B)
D)

(22)

Elephant
Cobra.

Eacnl



69.

70.

71.

72.

Which of the following is secondary consumer?

(A) Green Plants (B) Bacteria

(C) Lion (D) Goat.
frefafed & 9 & fadaes sode 82

(A) ' W (B) ]

©) ;W (D) &

The lowest segment of atmosphere is known as ................. .

(A) Troposphere (B) Stratosphere
(C) Ionosphere (D) Lithosphere.
aRASA % Fad e W A e w5d Fl

(A) &5 TEw (B) §HT WHed
(C) ¥ #Hed (D) *@ Hedl
Energy flow in an ecosystem is .................. .

(A) Unidirectional (B) Bidirectional
(C) Multidirectional (D) In all directions.
TRREfR G § F B TTE e B 2

(A) TS B) fafseia

(C) wgfexia (D) =sft fewmet

Which of the following are threat to biodiversity?
(A) Habitat loss B)
(C) Pollution (D)
frafafed & @ w0 Safafaua & o @@ €2

(A) STEEE & (B)

(©) Fm D)
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73.

74.

75.

Interlinked food chains in an ecosystem are called as ................... .

(A) Trophic level (B) Food groups
(C) Food web (D) Food chains.

TH § s @ JEenst & WER a5 8H B IRaT T o,

(A) TYH TR (B) @& U e
(C) @™ S (D) @™ HEdIl
Rio-de Janeiro is known for ................... ?

(A) Kyoto protocol
(B) Earth summit

(C) Helsinki protocol
(D) None of these.

frfafaa & o frae fou -8 SARE w1 S 22
(A) F& Wk % fag

(B) Yol oM &g

(C) =AfgH! W & foag

D) T ¥ FE I

Biogas is produced from ............... .
(A) Biomass

(B) From Plant materials

(C) From Animal materials

(D) All the above.
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76. In India, approximately ................ percent plants are edemic.

(A) 50% B) 32%
©) 10% (D)  5%.
e R o) SN yfaerd e Tt g

(A) 50 Wfer (B) 32 gfad
(C) 10 T (D) 5 i@l

77. Kailadevi Wildlife Sanctuary is located in the state of .................. .
(A) Uttarakhand
(B) Rajasthan
(C) Karnataka

(D) Jammu and Kashmir.

HARA TN TR v T g fed 2
(A) STES
(B) TSEIH

(C) HARH

(D) S o HTHN

78. Grasshoppers, ants, mosquitoes and spiders are example of :
(A) Biotic Factors
(B) Abiotic Factors
(C) Consumers

(D) Biotic factors and consumers both.
fegg, =ifeal, A=t 9 AHfga I B
(A) Sk FRH +

(B) owifash wWeh &

(C) SUM=T ®

(D) Sfas wHRw TH ST I B
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79. Which one of the following is secondary pollutant?

(A) NO, B) SO,
(C) PAN (D) None of the above.
= o ¥ w1 fadios ggwe 82

(A) T, (B) THeR,

(C) WTTA (D) SWw ¥ ¥ HE T

80. Which one of the following is/are cause of soil pollution?
(A) Excessive use of Insecticide
(B) Dumping of Solid Waste
(C) Soil Erosion

(D) All of the above.

= o @ & G WG B 22
(A) HIIRTRI & STAE STAM
(B) 3@ SURTE H hehAl

(C) Fq A

(D) SW g+

81. Sound is measured in a unit called the :
(A) Dobson
(B) Decibel
(C) Joule

(D) None of the above.

A HI9T HT THE Fo T
(A) Siagq
(B) =fadd

©) S
(D) SWad H ¥ &R =i
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82. Any undesirable changes in physical, chemical and biological properties of environment is called

AS reeeeieeeree e .
(A) Disaster (B)
(C) Biomagnification (D)

Pollution

Bioremediation.

e & diftes, TR 9 S

(A) SO B)
(C) S e (D)
83. Detritus food chain starts from .................... :
(A) Green Plants (B)
(C) Primary consumers (D)
HANE G G oo, ¥ Y Bl T
(A) ' e (B)
(C) wWufs IudiEmst (D)
84. World Environment day is celebrated on :
(A) 21 March (B)
(©) 5 June (D)
fava waferwr fog@ =@ S ©
(A) 21 #= (B)
€ 5 3 D)

TN § ST uRad

....................

EECH
Sfew ITER|

Organic matter

Secondary Consumers.

EICIRER D]
fedla  SusTereT

28 February

15 June.

28 HEU
15 SHI

85. In aquatic ecosystem, the main source of energy is :

(A) Zooplankton (B)
(C) Cladocerans (D)
WA & WRfEAfaw T H Hel B S W4 e,
(A) WfoTeTaR (B)
(©) Feifaw (D)
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86. Which of the following is threat to biodiversity?
(A) Habitat loss
(B) Native species
(C) Endemic species
(D) None of these.
= # @ wR-T Sefafaua & o e 22
(A) AEE &R
(B) ¥ e
(C) TerfAer gemict

(D) =T ¥ ®E T

87. Bacteria, fungi, annelid and fishes are examples of ..................... .
(A) Biotic factors
(B) Abiotic factors
(C) Producers

(D) None of above.

(D) SWad H 9 &R =i

88. Acid rain was discovered by .......ccceeueen. .

(A) EP Odum (B) RA Smith

(C) Karl Clarke (D) None of the above.
STAT T T B oo J H eR

(A) T 3Tew (B) omu fa@my

(C) F =T (D) SWw H ¥ FE T
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89.

90.

91.

Chlorofluorocarbons are responsible for ................... .

(A) Depletion tropospheric Ozone layer
(B) Depletion stratospheric Ozone layer
(C) Depletion mesospheric Ozone layer

(D) None of these.

FANFARERE & T STErET © ¢
(A) &ivHed H STNH WA &R o
(B) THAYHEd H IASHT WA &N

(C) #WemHed H NN WA &R0

(D) 9 | HE T

Which of the following gases has highest amount in the atmosphere?
(A) Nitrogen (B) Oxygen

(C) Carbon di oxide (D) Water vapours

agHed | ®E-E 19w A6 g6g s @2
(A) ESH (B) ATt
(C) FEA TE RS (D) Sierars|

Which of the following is natural cause of air pollution?
(A) Pesticides and insecticides

(B) Volcanic eruption

(C) Transportation

(D) Industrialization
e § | FA-F AR WG T AEE BT 2
(A) UfedEs 9 HiRS

(B) oGl fawmRE

(C) ufEsd

(D) ST=nfeRTHl
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92.

93.

94.

Which of the following is the example of primary pollutant ?
(A) Peroxyacetyle Nitrates

(B) Nitrogen dioxide

(C) Sulphur dioxide

(D) Both Nitrogen dioxide and Sulphur dioxide

FE-H WAHF TSUF T SR T2

(A) Tl THRREA ™
(B) EISH SE IfleETES

(C) TTH TE RS

(D) E2NH TE aUEE U§ oWl SR SRSl

Nuclear accidents causes ................... pollution.

(A) Radioactive pollution (B) Domestic pollution
(C) Water pollution (D) None of these.
T TRAT Vo TEE F

(A) earmit s (B) T W

(C) w1 T (D) T ¥ ®E Tl

Global warming is caused by :

(A) Excessive release of Carbon monooxide in the atmosphere
(B) Excessive release of Carbon di-oxide in the atmosphere
(C) Excessive release of Sulphur di-oxide in the atmosphere

(D) None of these.

(A) ®EA AF FEES ® dgHed H Idfuw @ & FR
(B) ®©A TE SiidUEs & dgHed H oTAfue REE & SR
(C) TTw TE sfguEe & dgded H Jafysw feE & &Rl
(D) =T ¥ ®E T
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95. Factors that are related to soil are called ....................... .
(A) Biotic factors
(B) Topographic factors
(C) Edaphic factors
(D) None of the above.

T8 SRF S GE ¥ FET B0 € SR e Fed Bl
(A) Sfoeh HRew

(B) AR

(C) zfrr FR®
(D) STWed H ° HE el

96. Energy flow in ecosystems is according to ..........c......... .
(A) First Law of Thermodynamics
(B) Second Law of thermodynamics
(C) First and Second Law of thermodynamics

(D) None of the above.

(A) o Tifdet w1 guH M

(B) o1 Tifdet 1 fgda fEm

(C) oo Tfawl & Yo fom wd fgdm fm
(D) SW H ¥ ®HE &

97. Chipko Movement took place in the state of :

(A) Kerala (B) Rajasthan
(C) Tamil Nadu (D) Uttarakhand
LR R DS |t & U TF | g3

(A) #@ H (B) TwEH H
(C) dfbemrg o (D) SWEvE H|
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98. Mismanagement of solid waste may lead to :

(A) Water Pollution (B) Land Pollution
(C) Air Pollution (D)  All of the above
3 AR & HITH H B oo T 2

(A) & HgH (B) = W

(C) 9 HgH (D) ST Al

99. Which one of the following is bacterial disease?
(A) Typhoid (B) AIDS
(C) COVID-19 (D) Malaria
e @ S-T T W A 82
(A) CEPES B) T=H
(©) Hifae-19 (D) Wi

100. Which of the following disease is caused by protozoa?
(A) Cholera (B) Typhoid
(C©) Malaria (D) Measles
et W § @ FE-T A WSS & SR g 22
(A) FeR (M) (B) RS
(©) wefen (D) @I
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